

Apartment in Qormi



Qormi, Central



€295,000

Reference No: 240251096-381

 Total Rooms: **5**

 Floor Area (m²) : **92**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Qormi

Qormi - An opportunity to buy an on plan apartment in one of the best residential areas of Qormi. A selection of two bedroom apartments in different layouts all having a spacious open plan, kitchen/living/dining, a large front terrace, good sized bedrooms, an ensuite shower and a guest bathroom. All apartments will be sold as finished except for bathrooms and internal doors. This corner block is projected to be completed by November 2026. Book your viewing with your preferred RE/MAX agent now.

Features

- ✓ Lift
- ✓ Electricity Utility
- ✓ Terrace
- ✓ Water Utility
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Living/Dining : 7.39 x 4.2 m (31.04 m2)
- ✓ Double Bedroom : 4.6 x 4 m (18.4 m2)
- ✓ Double Bedroom : 3.85 x 3.06 m (11.78 m2)
- ✓ Bathroom : 2.63 x 2 m (5.26 m2)
- ✓ Shower : 2.6 x 1.8 m (4.68 m2)
- ✓ Open Space : 4.1 x 1.45 m (5.94 m2)
- ✓ Open Space : 1.5 x 0.95 m (1.42 m2)

Gallery





Clive Pollacco

RE/MAX Advantage

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta